ATMOS ENERGY,WEST TEXAS DIVISION 26,011 \$29,753.00 \$1.14 BARNETT GATHERING, LLC 92,251 \$1,400,809,73 \$3,001,218.56	
\$29,753.00 \$1.14 BARNETT GATHERING, LLC 92,251 1,694,315	
\$1.14 BARNETT GATHERING, LLC 92,251 1,694,315	26,011 \$29,753.00
92,251 1,694,315	\$1.14
92,251 1,694,315	
	1,786,566
\$1,400,609.73 \$15.18 \$1.77	\$4,402,028.29 \$2.46
BLACKBRUSH O & G, LLC 28,244	28,244
\$65,021.21 \$2.30	\$65,021.21 \$2.30
32.30	φ2.30
BOARDWALK TEXAS INTRASTATE, LLC 48,132	48,132
48,132 \$167,434.00	48,132 \$167,434.00
\$3.48	\$3.48
BTA ETG GATHERING LLC	
2,001,000 \$4,821,323.00	2,001,000 \$4,821,323.00
\$2.41	\$4,821,323.00
CENTANA INTRASTATE PIPELINE, LLC	
17,930,747 2,319,716	20,250,463
\$53,199,759.00 \$6,916,468.09 \$2.97 \$2.98	\$60,116,227.09 \$2.97
	ψ2.57
COGENT MIDSTREAM WESTEX, LLC 79,683,549	79,683,549
\$119,306,848.00	\$119,306,848.00
\$1.50	\$1.50
COMANCHE TRAIL PIPELINE, LLC	
973,279 \$893,303.09	973,279 \$893,303.09
\$0.92	\$0.92
COPANO PIPELINES/SOUTH TEXAS LLC	
140,012	140,012
\$340,513.00 \$2.43	\$340,513.00 \$2.43
CPR PIPELINE LLC	
151,026 27,247	178,273
\$835,976.00 \$114,197.00 \$5.54 \$4.19	\$950,173.00 \$5.33
ን የት የ የ የ የ የ የ የ የ የ የ የ የ የ የ የ የ የ የ	φ0.00
DCP GUADALUPE PIPELINE, LLC 32,724,071 79,471,778	112,195,849
\$87,596,276.00 \$214,110,043.00	\$301,706,319.00
\$2.68 \$2.69	\$2.69
DOW PIPELINE COMPANY	
6,043 304,117 \$15,971.96 \$873,589.12	310,160 \$889,561.08
\$2.64 \$2.87	\$2.87
EASTRANS, LLC	
21,086,571	21,086,571
\$50,946,715.00 \$2.42	\$50,946,715.00 \$2.42
EMPIRE PIPELINE CORPORATION 2,283,607	2,283,607
\$4,864,960.80	\$4,864,960.80
\$2.13	\$2.13
ENERGY TRANSFER FUEL, LP 271.018.455	074 040 455
271,018,455 \$575,085,455.84	271,018,455 \$575,085,455.84
\$2.12	\$2.12

UTILITY	480-RESIDENTIAL SALES	481-COMMERCIAL & INDUSTRIAL SALES	482-OTHER SALES TO PUBLIC AUTHORITY	483-SALES FOR RESALE	TOTAL
ENTERPRISE TEXAS PIPELINE LLC				2,420,000 \$5,577,825.00	2,420,000 \$5,577,825.00
ETC KATY PIPELINE, LTD				\$2.30 255,383,225	\$2.30 255,383,225
ETC TEXAS P/L, LTD.		60,291,943		\$570,633,342.42 \$2.23 613,147,466	\$570,633,342.42 \$2.23 673,439,409
FUELS COTTON VALLEY GATH, LLC		\$30,302,589.96 \$0.50		\$1,078,306,921.54 \$1.76	\$1,108,609,511.50 \$1.65
				888,694 \$2,034,816.00 \$2.29	888,694 \$2,034,816.00 \$2.29
GATEWAY CORRIGAN LLC		340 \$1,700.00 \$5.00			340 \$1,700.00 \$5.00
GATEWAY PIPELINE COMPANY LLC		1,019,281 \$1,836,189.94			1,019,281 \$1,836,189.94
GRAYCO MIDSTREAM LLC		\$1.80		73,629,142 \$1,742,017.93	\$1.80 73,629,142 \$1,742,017.93
HOUSTON PIPE LINE COMPANY LP		133,184,343		\$0.02 672,562,564	\$0.02
JM INVESTMENTS, L.L.C.		\$397,087,853.59 \$2.98		\$1,791,876,265.46 \$2.66	\$2,188,964,119.05 \$2.72
				501 \$1,516.00 \$3.03	501 \$1,516.00 \$3.03
KINDER MORGAN TEJAS PIPELINE LLC		247,232,926 \$659,685,285.00 \$2.67		356,812,544 \$936,095,562.00 \$2.62	604,045,470 \$1,595,780,847.00 \$2.64
KINDER MORGAN TEXAS PIPELINE LLC		142,849,315 \$383,524,253.00 \$2.68		345,236,803 \$857,085,486.00 \$2.48	488,086,118 \$1,240,609,739.00 \$2.54
LOBO PIPELINE COMPANY LLC				39,028,606 \$99,702,305.91 \$2.55	39,028,606 \$99,702,305.91 \$2.55
MIDCOAST G & P (EAST TEXAS) L.P.		4,000,638 \$12,317,401.16 \$3.08		214,226,762 \$426,071,244.94 \$1.99	218,227,400 \$438,388,646.10 \$2.01
MISSION VALLEY PIPELINE CO., LP		\$0.00		85,881 \$198,508.00	85,881 \$198,508.00
MONTGOMERY GAS TRANSMISSION, INC				\$2.31 155,370 \$938,197.48	\$2.31 155,370 \$938,197.48

UTILITY	480-RESIDENTIAL SALES	481-COMMERCIAL & INDUSTRIAL SALES	482-OTHER SALES TO PUBLIC AUTHORITY	483-SALES FOR RESALE	TOTAL
				\$6.04	\$6.04
MONUMENT PIPELINE, LP				310,467 \$775,120.00 \$2.50	310,467 \$775,120.00 \$2.50
NAVITAS UTILITY TEXAS, LLC		4,161		¥=.00	4,161
		\$26,970.79 \$6.48			\$26,970.79 \$6.48
NET MEXICO PIPELINE PARTNERS,LLC				897,000 \$2,210,890.00 \$2.46	897,000 \$2,210,890.00 \$2.46
NTU PIPELINE, LLC				1,568,266	1,568,266
				\$2,037,132.17 \$1.30	\$2,037,132.17 \$1.30
DASIS PIPELINE, L.P.				440,527,859 \$982,621,815.78 \$2.23	440,527,859 \$982,621,815.78 \$2.23
DNEOK WESTEX TRANSMISSION, L.L.C.		5,124 \$8,202.00		263,400 \$630,839.00	268,524 \$639,041.00
PELICAN RESERVE PIPELINE COMPANY		\$1.60		\$2.39	\$2.38
				68,730 \$138,218.77 \$2.01	68,730 \$138,218.77 \$2.01
PENINSULA PIPELINES (N TX) LLC				283,677 \$454,230.75	283,677 \$454,230.75
PETROLEUM FUELS COMPANY, INC.				\$1.60	\$1.60
		59,990 \$215,426.51 \$3.59		56,797 \$381,189.83 \$6.71	116,787 \$596,616.34 \$5.11
PETROLEUM FUELS MIDSTREAM HOLDING LLC		52,956 \$199,566.65 \$3.77		251,010 \$960,334.19 \$3.83	303,966 \$1,159,900.84 \$3.82
PINNACLE GAS TREATING LLC				43,157 \$91,241.30	43,157 \$91,241.30
RED BLUFF EXPRESS PIPELINE, LLC				\$2.11	\$31,241.30 \$2.11
				28,312,368 \$27,783,781.57 \$0.98	28,312,368 \$27,783,781.57 \$0.98
ROADRUNNER GAS TRANSMISSION, LLC				445,490 \$690,118.20	445,490 \$690,118.20
TEXAS MIDSTREAM GAS SVCS, LLC				\$1.55 180,700	\$1.55 180,700
				\$248,609.00 \$1.38	\$248,609.00 \$1.38
TOTAL GAS PIPELINE USA, INC.		1,563,859			1,563,859

UTILITY	480-RESIDENTIAL SALES	481-COMMERCIAL & INDUSTRIAL SALES	482-OTHER SALES TO PUBLIC AUTHORITY	483-SALES FOR RESALE	TOTAL
		\$5,337,240.00 \$3.41			\$5,337,240.00 \$3.41
TRANS-PECOS PIPELINE, LLC				7,602,658	7,602,658
				\$5,429,211.93 \$0.71	\$5,429,211.93 \$0.71
TRISTATE ETX, LLC				579,519 \$1,465,742.00	579,519 \$1,465,742.00
TRISTATE NLA, LLC				\$2.53	\$2.53
				2,896 \$5,078.00 \$1.75	2,896 \$5,078.00 \$1.75
WASKOM TRANSMISSION LLC					2.235
				2,235 \$7,863.93 \$3.52	2,235 \$7,863.93 \$3.52
WEST TEXAS GAS, INC.		8,871	1,067	206,363	216,301
		\$31,907.00 \$3.60	\$6,085.00 \$5.70	\$320,425.00 \$1.55	\$358,417.00 \$1.66
1486 GAS PIPELINE, LLC				23,129 \$143,028.00	23,129 \$143,028.00
				\$6.18	\$6.18
1849 MIDSTREAM PARTNERS, LLC				1,347,302 \$3,137,188.44 \$2.33	1,347,302 \$3,137,188.44 \$2.33
MMBTU SOLD TOTALS REVENUE TOTALS AVERAGE RATE (\$/MMBtu)	6,043 \$15,971.96 \$2.64	641,475,959 \$1,634,480,995.45 \$2.55	1,067 \$6,085.00 \$5.70	3,517,352,497 \$7,780,459,320.13 \$2.21	4,158,835,566 \$9,414,962,372.54 \$2.26

Source: Gathering Utilities - 2019 Gathering Annual Report - Page 9 Transmission Utilities - 2019 Transmission Annual Report - Page 27